8. [Java] ??7? ?7?7?7? -
Character.isDigit(c)

https://school.programmers.co.kr/learn/courses/30/lessons/120902
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class Solution {
public int solution(String my string) {
char[] arr = my string.toCharArray();
int sum = 0;
for (char ¢ : arr ) {
if (¢ !="'"+" & c !I="'-" & c =" ") {

sum+= Integer.parselnt(c);

}

return sum;
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44 String = int VS char - int

1. String[] int] IO [0 Integer.parselnt()
String str = "123";

// 000 - int
int num = Integer.parselnt(str); // 123

2.char] I OO [ char[@ [m -'o0
char c = '7"';

// 00 - 00 (000)
int digit =c - '0'; // '7" - 'O =7
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class Solution {
public int solution(String my string) {
char[] arr = my string.toCharArray();
int sum = 0;

for (char ¢ : arr ) {

if (¢ !="+" & c = '-" & c =" ") {
sum+= ¢ - '0"';
}
}
return sum;
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String my string = "al2b3";
_)arr: [Ial’ I1I’ I2I’ Ibl, I3I]
-[0: 1+2+3=6 (00012 + 3000
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class Solution {
public int solution(String my string) {
char[] arr = my string.toCharArray();
int sum = 0;
String num = "";

for (char c : arr ) {
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if (Character.isDigit(c)) {
num += c;
} else {
if (!'num.isEmpty()) {
sum += Integer.parselnt(num);

num = ||||;

}
if (!'num.isEmpty()) {
sum += Integer.parseInt(num);

}

return sum;
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class Solution {
public int solution(String my string) {
String[] splited = my_string.split(" ");

int answer = Integer.parselnt(splited[0]);

for(int i = 1; i < splited.length; i += 2) {
String op = splited[il];

int num = Integer.parselnt(splited[i + 1]);

if (op == '+")) {
answer += num;
} else if (op == '-') {

answer -= num;

}

return answer;
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class Solution {
public int solution(String my string) {
String[] splited = my_string.split(" ");

int answer = Integer.parselnt(splited[0]);



for(int i = 1; i < splited.length; i += 2) {
String op = splited[il];

int num = Integer.parselnt(splited[i + 1]);

if (op.equals("+")) {
answer += num;

} else if (op.equals("-")) {

answer -= num;
}
}
return answer;
}
}
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